ROCKFORD PUBLIC SCHOOLS BID 16-66 RPS205 Milk/Dairy Date: Wednesday, June 29 2016 Time: 11:00 AM

Tamara Pugh Presented By: Martina Padilla Recorded By:

Bidder Company Name	Muller Pinehurst		
All required documents received?	Yes		
Item	Adjustable Fixed Annual	∆diustahl	le Fixed Annual

Item No.	Qty	Description	Adjustable Pricing	Fixed Annual Pricing	Extended Cost	Adjustable Pricing	Fixed Annual Pricing	Extended Cost
1	2,199,284	Milk, Skim, Chocolate, 1/2 pint in carton only	0.2282		\$501,876.61			\$0.00
2	1,057,285	Milk, 1% White, 1/2 pint in carton only	0.2137		\$225,941.80			\$0.00
3	789,009	Milk, Skim, Strawberry, 1/2 pint in carton only	0.2282		\$180,051.85			\$0.00
4	21,575	Milk, Skim, White, 1/2 pint in carton only	0.2137		\$4,610.58			\$0.00
5	5	Milk, Whole White, Gallon		2.9900	\$14.95			\$0.00
6	6	Milk, 1% White, Half Gallon		1.6900	\$10.14			\$0.00
7	10	Buttermilk 1% Half Gallon		1.9900	\$19.90			\$0.00
8	290	Silk, Soy Milk, Chocolate 1/2 pint in cartion only		no bid	\$0.00			\$0.00
9	290	Silk, Soy Milk, Vanilla 1/2 pint in carton only		no bid	\$0.00			\$0.00
10	420	Lactose Free Milk, 1/2 pint in carton only		0.5700	\$239.40			\$0.00
11	10	Lactose Free Milk, 1/2 Gallon		3.15	\$31.50			\$0.00
12	10	Cottage Cheese 2% 5lb. Tub		8.50	\$85.00			\$0.00
13	12	Sour Cream, 5lb. Tub		8.00	\$96.00			\$0.00
14	10	Yogurt, Plain, Fat Free, no high Frustose corn syrup added, 5lb. Tub		7.75	\$77.50			\$0.00
15	10	Yougurt, Vanilla, Low Fat, no high Fructose corn syrup added, 5lb. Tub		7.75	\$77.50			\$0.00
16	550	Yogurt, Flavored, Low Fat, no high Fructose corn syrup added		0.3300	\$181.50			\$0.00

ROCKFORD PUBLIC SCHOOLS
BID 16-66 RPS205 Milk/Dairy

Date: Wednesday, June 29 2016

Time: 11:00 AM

Presented By: Tamara Pugh
Recorded By: Martina Padilla

Bidder Company Name	Muller Pinehurst	
All required documents received?	Yes	

Item No.	Qty	Description	Adjustable Pricing	Fixed Annual Pricing	Extended Cost	Adjustable Pricing	Fixed Annual Pricing	Extended Cost
17	70	Cream Cheese, Plain IW, Case/100 1 oz.		no bid	\$0.00			\$0.00
18	70	Cream Cheese, Strawberry IW, Case/100 1oz.		no bid	\$0.00			\$0.00
19	10	Cream Cheese, Plain, 3lb. Loaf		no bid	\$0.00			\$0.00
20	900	Eggs, Fresh, Large, Grade A, Carton of 1 dozen		no bid	\$0.00			\$0.00
21	4	Eggs, hard-cooked, peeled, Grade A, size medium to large, packed in plastic pail w/plastic liner in a brine solution, 10lb. Pail, approximately 90 eggs		no bid	\$0.00			\$0.00
22	150	Butter, Unsalted, Grade AA, solid table grade parchment wrapped bricks, Brick of 1lb.		no bid	\$0.00			\$0.00
23	200	Butter, Salted, Grade AA, solid table grade parchment wrapped bricks, Brick of 1lb.		no bid	\$0.00			\$0.00
24	10	Ice Cream Cups, Vanilla, Strawberry, Chocolate, must include one wrapped wooded spoon per cup, Box 24.3 oz.		no bid	\$0.00			\$0.00
25	10	Sherbert Cups, various flavors, must include one wrapped wooden spoon per cup, Box 24.3 oz.		no bid	\$0.00			\$0.00
26	55,000	Juice, 100% Orange & Apple no added sugar or high fructose corn syrup, 4 fluid oz., 1/2 cup		0.3900	\$21,450.00			\$0.00
27	2	Ice Cream Sandwiches, Box/24		no bid	\$0.00			\$0.00

ROCKFORD PUBLIC SCHOOLS BID 16-66 RPS205 Milk/Dairy Date: Wednesday, June 29 2016

Fudge Bars, Box/24

Time: 11:00 AM

28

Presented By: Tamara Pugh
Recorded By: Martina Padilla

\$0.00

Bidder Company Name		Muller Pinehurst						
All red	quired doc	cuments received?		Yes				
ltem			Adjustable	Fixed Annual		Adjustable	Fixed Annual	
No.	Qty	Description	Pricing	Pricing	Extended Cost	Pricing	Pricing	Extended Cost

TOTAL COST \$934,764.23 \$0.00

\$0.00

no bid

ROCKFORD PUBLIC SCHOOLS BID 16-66 RPS205 Milk/Dairy Date: Wednesday, June 29 2016

Time: 11:00 AM

Presented By: Tamara Pugh
Recorded By: Martina Padilla

Bidder Company Name	Muller Pinehurst	
All required documents received?	Yes	

Item Adjustable Fixed Annual Adjustable Fixed Annual
No. Qty Description Pricing Pricing Extended Cost Pricing Pricing Extended Cost

line 11, 1/2 gallon @ qty of 10 not gallon @ qty of 5